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Subject IASSISTANT TEACHER PRIMARY

Q.1

Ans

gR‘A@B wr3f ‘A BF10Herufud g, 'A#B w1 31f ‘A, B&H 20 fierIRAE, ASB
w3 ‘A, BF 10 fier g & &', ‘A © B’ @ 312f ‘A, B & 30 i af@or 7 @, ot Rafaf@a d &

hIF T YA Y Y ivte & forg 98t 82
Z#P@QOR#SST
I.T,Z& 10 ez efaor d g1

II. Q, T & af@or-gd 7 &1

XA Fadll
< B.Fae |
o C. 1Tt |l =t
KD .Agagl

[ Question ID : 1034356994

Q.2
Ans

fafafae ver 4, 3 79 Reeat & @ demei & frvw a@g ot gl
& A (49,121,169)
< B. (169, 225, 289)
X C.(49,81,21)
X D. (121, 169, 225)

Question ID : 1034356989

Q.3

Ans

A e g e 7, TR srer g Ry g &1 (-) & arfi ok 33 m s1er (-) & rff ok RA ™
eR @ foreht adh/fAaw/dey @ Tefda @1 = 3t e adh/Ram/ddy & snur = gu= 1 g
¢ faeredl & 9 faww 6t gfag

X AWP-YQ
7< B.NG - PH
& C.CF-DG
X D.KR-MS

Question ID : 1034356980
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Q.4 Ui Y&y A, B, C, D ar E uig fafer= sufaai C1, €2, C3, C4 U1 C5 # e ohed & (St 18l Y
&t & 9 1) | Uk & U9 B1, B2, B3, B4 94T B5 e Uah faf V= &R oft & (o=t 781 fr gt
A # §1)1 E, C2 H &hIH o g, U SHh U B2 181 g1 A & U= B1, B4 a1 B5 =11 g1 D & uts
B4 gl &1 ag Sit C5 A &I T @, 39k UTH B5 @1 a8 Sit C1 § i T &, 39k U B4 &1 98
Sit C4 # &H a1 8, I8 utd B1 21 B, C1 a1 C4 # & 781 azar 81 R=afaf@a d d g an
FYT TG 8?

. A g B2 2l
1. C, C4 & <hTH &hdT &1

Ans X A ATElATE I
X B.laur gt
o C.had |
75X D. e |l

[ Question ID : 1034356986

Q.5 fid Ry g ust A © HYF 3R I o1& 39 HYAT WR TR F5 s g mg &1 g g
HYAT S TE AR, T8 ITH G A9 a2t S fRar g goft e o ik fow RuffRa o 6
g g == & fAswd, Rw g syl & suR wR gfrera &1

HYA:
L. FS N, X &I
I.gft X, T&1
fArsent:
L.gaN, TE
Il.Fs X, N gl
Ans X A Shac fshe | STEROT T &

/X B. had et || SreRoT sheal §
o C. oI Ry | 3T || SIER0T ahvd &
X D. &1 oft Freenef srggRor 78 avar &

[ Question ID : 1034356987

Q.6 f=faf@e usr d Ry 7y fRereut A & Hafda sreri = gfg)
LW:JU:VZ:?

Ans o A TX
X B.SY
X .1y
X D.SX

Question ID : 1034356981
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Q.7 Based on the given venn diagram, which of the following statement(s) is/are correct?
I. Total number of squares is 45.
1I. The number of rectangles which are not cube is 103.

Rectangle
9 15
3
23 Square
7
41 T3]
82 |—Cube

Ans X A Onlyll
< B. Neither I nor Il

25 C.Bothlandll
" D.Only|
[ Question ID : 1034356992
Q.8 How many clothes are both black and white?
White % Cloth
2
Black
Ans o A 21
< B.109
X C.69
X D.92
[ Question ID : 1034356991

Q.9 TigFa A, B, C, D 9T E Ueh-g&R & SR 7@ W14 ¢ (S g1 h st schm A g1) I BaurE & <ftw
o Teh TRT @7 ST @1 B 971 D & fia A &) 99t @ 9 &1 A, D & Sleh SuR @1 AT 81 A a1
C & i d foFe Te @ e &2

Ans X A1
X B.3
& C.2
X Do

[ Question ID : 1034356984
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Q.10 & 7€ IR STepfaal & @ I IR Sepfa wi Y ora 7 usr enpfar FAfga &1
Ans X A,

X B.
X cC
& D.

[ Question ID : 1034356997

Q.11 How many quadrilaterals are there in the given figure?
Ans X A8

& B.9
X c.10
X D.7

[ Question ID : 1034356996

Q.12 ke &fgyor i 31k 30 Hiex atar &1 a8 andfi 3k ga1 & auT 20 Hiex gwar 81 siaa: ag arff
3R F=ar & aur 30 Hiex Tear &1 ag o fra R A w1 @1 8?

Ans X A IR
X B.ufgw
X cC.ugd
o D. af&or

Question ID : 1034356993

Q.13 @i ©t srrepfar &t 71 Srrepferat & HT= 8?7
Ans X A,

# B.

X c.

« D.

[ Question ID : 1034356995

Q.14 U fafare sis v &, ‘PRINCE’ &t ‘'NOEIWX' ot Sirar 21 39 st vrur & ‘ACTION’ &1 shts
FaT8?
Ans x A.YZPEJG

X B.YZPDJG
«” C.YZPDIG
X D.YZPEIG

Question ID : 1034356983
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Q.15 F=fafEa usr & g 7o et § 9 ust Reg (?) & U™ W o= ared! S &t gfAgl
Ans X A. 498

X B.396
& C.416
X D.208

[ Question ID : 1034356990

Q.16 A,CHT WS I D, CHIfAaT81B,CHragigI E,BR AN &I FER Ra11G, FHga I D, G
@ fF g uepR Tafaa &2

Ans o A ST
X B. g
Xcm
5 D.gMR

[ Question ID : 1034356985

Q.17 2 g g usr & o FU= 3R I a1% 39 FHUA WR TR Fo fFrewd g g §1 g g
HYAl S TE AR, T ITH G A1 a2t S fRAman g gaft e o ofik fok RufRa o &6
g g &= & A, Ry g @Al & suR wR gieea &1

HU:
1.5 N, C&l
I.gftc, D&l
1. s +ft D, P AT 81

forsend:
L.gsN,Pag &1
Il. = D, N &l

. g ft P Cc i 21

Ans X A GIST SR | 3T 11 SIgERoT aRd §
/< B. 3T Fseh | T 111 $geRoT hd &
X C. 3 fsendf |1 T 111 SIFERUI d &
o D. Tl Ry SaRo aed &

[ Question ID : 1034356988

Q.18 f=feif@a ust 7, s1aRi o1 Yo dvg o man &1 ucdes 9qg & s1aR I dE & sierl & |1y
fora adh/fRomy/ey @ Tefda 81 RA o faereal & 9 srert =) g w3g &t gfaw st awm ad/
Frm/%isier o1 SIgEROT Shar gl
(BG, GM, LS)

Ans X A (TU,YB,DH)

o B. (VQ, AW, FC)
7< C.(SP XV, CA)

< D. (LN, QT, UZ)

Question ID : 1034356982
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Q.19 e 31gsRd fam mam g, S & uor ug g 81 Ry 71 Reeeul 7 @ ag @@l ferea gfag, it

3TTehH Y GRT 3|
MD41, 0180, QN119, SS158, UX197, ?

Ans X A. XB226
< B. WB236
& C.WC236
X D.WC226

[ Question ID : 1034356979

Q.20 f=faifEa 2real i rsaenlier & o= aret s & SR ol |

1. Tabbinet
2. Tabulate
3. Tabouleh
4. Tableside
5. Tabescent

Ans X A 15423
X B.14523
& C.15432
7 D. 14532

[ Question ID : 1034356978

Section : General Awareness

Q.1 42 3 HenteF ZRT AN & T sheteal ol fFe adf & wreg i & sier war ar?
Ans X A 1977

X< B.1980
X C.1978
«” D. 1976

Question ID : 1034357014

Q.2 Which of the following is a warm-blooded animals?
Ans X A Turtle

#< B. Chameleon
25 C. Lizard

" D. Bat

[ Question ID : 1034357003

Q.3 What is the chemical formula of quick lime?
Ans o A CaO

% B.NO,
2 C.CaCo;
2< D. caoCl,

[ Question ID : 1034357002
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Q.4 Which of the following river makes the second biggest waterfall in India?
Ans  # A Kaveri

#< B.Krishna
25 C. Mahanadi
25 D. Godavari

Question ID : 1034357005

Q.5 Who among the following won the Wimbledon 2021 Men’s singles title?
Ans X A. Matteo Berrettini

< B. Roger Federer
4" C. Novak Djokovic
/% D. Rafale Nadal

[ Question ID : 1034357017

Q.6 fA=fafaa d & o a1 g a3 & forg wdt &2
Ans X A.NNP = GNP x §e4 g/¥

«" B.NNP = GNP - qea g/ ¥

/5 C.NNP = GNP + qg g

2< D.NNP = GNP / 59 g9

Question ID : 1034357000

_——
Q.7 Which of the following is NOT an example of secondary activity?
Ans X A. Manufacturing of steel
¥ B. Advertising
5 C. Weaving of cloth
% D. Baking of bread
[ Question ID : 1034357006

Q.8 WRA FT FIH TST Rell g1 AR Fotf ot fobr o0 F wfira foa o <1 87
Ans X A odfeesh

o B. T

X C. o=

< D. WgRIY

Question ID : 1034357012

Q.9 Who among the following is also called as ‘Dhing Express'?
Ans & A HimaDas

5 B. Jisna Mathew
/5 C.PT Usha
#< D. Mirabai Chanu

[ Question ID : 1034357016
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Q.10 Which of the following is NOT a regional music of Uttar Pradesh?
Ans X A Alha

#< B. Hori
25 C. Sohar
«# D. Laman

Question ID : 1034356998

Q.11 2T e — I 1 A 1 T TE T8 82

I. RS - wfer
I1. wifg-ftarga - a4t

Ans X A ldrllaEr
K B.&aw i
o C.%had |
XD .Ag g

Question ID : 1034356999

Q.12 Ak — <A T R AT T T &2
1. FiAsh - FuTor
II. Greroff - Qrdarg—

Ans X A cadll
X B.&haw |
o C.|aurll g
XD .Ag g

Question ID : 1034357009

Ans X A e 75
X B. 3gwe 70
& C. age 54
X D. 3% 65

Q.13 ¥R AR o1 R A1 JrgTde WRa & wgufa & fRafea | S«afda &2

Question ID : 1034357015

Q.14 Which pair of Non-Metal — Atomicity is NOT correct?
I. Hydrogen — Monoatomic
1. Oxygen — Diatomic

Ans o A Only|
2 B.Onlyll
#< C.Bothland I
25 D. Neither I nor Il

Question ID : 1034357004
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Q.15 ‘g oI’ ____ iR ___ & offa gor 6w 99 S 81
Ans o A TRd, Tgch I SRR

75 B. YRd, AUt
5 C. ¥IRa, FieATe e

25 D. ¥Rd, &9

[ Question ID : 1034357011

Q.16 JATE 2021 #, frd Hira= A sifarfisT AT Iuazvr “gaetas” di-a fhar 87
Ans o A ITE.SMS.E. JUR

X B. 3mE.3mE. 8. Rt

X C. R3S, AR

< D. 31TE 318 &, gexraTe

Question ID : 1034357013

Q.17 #grent mieh () sjEen A 500 TR F A AeawmaT_____ 21
Ans o AT

X B.asta
X C.sa
25 D.&1

Question ID : 1034357001

Q.18 3FdaH
Ans X A dg

X B. 5w
o C.7m
X D. g

2T T AT ATI

[ Question ID : 1034357010

Q.19 fA=fafaa @ @ w9 a1 wy= 9 @2
1. gRaron s doire & ara« arforsg Y ta wae & uiq Sif3em A ag v shifden wae &1
1I. 3ot Y d d-91S & 7 Yohed wE aiE Srelt 81

Ans X A had |
X B.Ag Al
XK C.FHaall
o D. | TuT Il =t

[ Question ID : 1034357007
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Q.20 WRA #, et wur wR ufaeer oot & o fear mar am
Ans X A 1826

o B.1829
X C.1832
X D.1827

[ Question ID : 1034357008

Section : Arithmetic Ability

Q.1 24:4x5-8x3+5dH FATE?
Ans X A.10

o B. 11

x C.13

X D.15

[ Question ID : 1034357018

Q.2 e Iraa St ST ITH) TS i Ueh-feTs &1 Rt emad @ &awe 1875 /.72 §, af saeht
TS AT FISTE T TN T 82

Ans o A 100 T AT
X B.50 @
X C.759
X D.1259.H.

[ Question ID : 1034357033

Q.3 ¥ gehTS TYTF WR I T 3ieh 2
Ans XK A6

o B.2

X cC.5

X D.0

Question ID : 1034357022

Q.4 Uk g #, el SEEAT & 40 ufaerd & Rfda & aur dw sifdxfaya g1 afy sifdfda «i Hr
T 360 g, dt 7Ta Y el STHEAT T 8?7

Ans o A 600
2 B. 500
2 C. 400
# D.300

[ Question ID : 1034357024
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Q.5 The table given below shows the marks obtained by 7 students in two subjects.
Which of the following statement is correct?
I. The average marks obtained by S1 in both subject is 125.
1I. The ratio of marks obtained by S2 in A to the marks obtained by S3in Ais 5: 3.
1ll. The marks obtained by S4 in B is 166.66 percent of the marks obtained by S7 in B.

Ans X A lland lll
«" B.land Il
X C.llland 1Nl
25 D.land Il

[ Question ID : 1034357035

Q.6 af} g Twer 982Y5, 9 @ yofa: RenfSia &, @t Y &1 w1+ = gt Jerar 82
Ans X A5

X B.2

o C.3

X D.4

Question ID : 1034357019

Q.7 & ANTST TEAT X TUT y I TYH THIIGY T &2
Ans X A.y/x

" B.xy

K C.1

25 D.x/y

[ Question ID : 1034357020

Q.8 U gy 20 fok.+t./ger Fir nfar & 11:00 gaig w foig P & ge 3 weat g1 98 2 ©e gsan g ok
R 1 € TR =T 81 98 QT Tl ek el & 19 deh 98 Yeh GoR YoY ZRT UheT gl ST &,
Sit 2 STRTE R faig P & dier = @wan & au ag 25 .. /s Y 1fa & gt aafeh f /e
o w3 giear 81 yse ye fohe 9wa wR usheT wam?

Ans X A 500 3G
< B. 8:00 3TRTE
& C. 6:00 3RTE
< D. 7:00 3rR1g

[ Question ID : 1034357031

Q.9 Ueh 24ep & SR i Broar 14 .. & aur Iuhr F=rd 48 /.. g1 39 i &1 Fer Yia Sher
ek aif o &¥srthet ot 11 T &1 o <t yfom 82

Ans X A 123
 B. 163,
X C.209.
X D.s3.

[ Question ID : 1034357034
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Q.10 = Ry war gus R afva dafaal 7 anfae ga aret Sead= 6 Sar & s2rfar gl
&t S1, S2, S3 iR S5 # A g aret ST Y T 1 itad =T 82

Ans X A.550.5
X B.3155
X C.617.5
& D.412.5

Question ID : 1034357036

Q.11 Ueh AT &t 45 ufarera Y Fe uR = sirar 1 af a1 1 sifthd g 8800 Fud &, dt A1 o1 fasha
e T 8?7
Ans o A 4840 30F

X B. 5040 T
X C. 5060 T7&
X D. 4860 Tud

[ Question ID : 1034357023

Q.12 gf¥ @, x% + 2x + 5 &1 "I AT &7
Ans X A

« B.

X C

X D.

Question ID : 1034357021

Q.13 U e afy wR 15 ufaera i arfifer 2= @ 12 adf qur 13 aef & qreror sarst & e siar 75
Iud g1 afA w82

Ans X A 510309%
& B. 500 3ud
< C. 400773
2 D. 550 3q&

[ Question ID : 1034357029

Q.14 M Tt 31u+ft AEfehe 7744 Tud § F=mt iR 12% Y g1 g1 i a8 55 9000 w0 & d=an 8, t
T uferd o ghm?

Ans X A 25
o B.2.27
X C.6.66
X D.3.33

Question ID : 1034357026
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Q.15 Ueh wher 10 #t./Q. Y 7fy & 32 62 deh FeTelT 1 TR ERT ol gh ag hr € @2
Ans o A 1152 AT

< B. 1214 f .
X C. 948 fop.H.
25 D. 1046 for.H.

[ Question ID : 1034357030

Q.16 D, E 9T F Ueh &R aht 7220 9 # fOrd tR &d &1 D 3 Ikt v 7 & fomam, E 3 Skt vl 5
¢ foRar auT F 3 I9rT wah 8 ©e forami foma A E <1 fewar < g

Ans o A 1805308
X B.3632%0
X C.2527 z0&
7 D. 2888 TwR

[ Question ID : 1034357027

Q.17 P &t 3ma Q it 3ma & 20 ufazre 31fdes & aur Q Y e R Y sma @ 30 ufazra 3ifdes g1 P &t
T4 R Y 3 @ fora=t ufaera orfdres &2

Ans X A. 60 ufaerd
X B. 50 ufaza
o C. 56 ufas@a
25 D. 65 ufas

Question ID : 1034357025

Q.18 Uk &R &I e ITh UR & aif 1 SrgehATguTed 81 Uk afwh 9 7etedl & ag gRr e gl A ge
TATI §9 A gRST & WR T 31gUTd 4 : 3 : 2 §1 3@ 18720 Tud it g1 g€1 &R o1 areafass gea
T AT?

Ans X A. 30250 ¥0d
X B. 37260 35
o C. 29160 30
25 D. 54320 373

Question ID : 1034357028

Q.19 J 3rhet Ueh i oht 40 R # YT o TehaT & AT K S1chet I ok ot 60 1 & ORT ohv Tehat 81
I a1y AT i ST SR R, uig K o qR1 811 & 5 R g avrdf Stgeny ae mami
Frdf e e & qrr gam g

Ans X A 27f=
" B. 26
X c.20fA
X D.24fF

Question ID : 1034357032
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Q.20 = far war ¥ R 8 faf v 2resi A geul aur afgwrsi &t Hwean &t garfar 1
J1 = T4t 8 2rgRl A goul it et Swean aut Afgered it et G & T & siar|
J2 = 21gz C1, C3 @YU C6 H q=ul hY T a1 siiwd|

J3 = 2AER C4, C5 aUT C6 H Afgrail &Y Tiwar & il

J2 +J3 — J1 hT °HF [T 87

Ans X A.800
X B. 400
X C. 500
& D. 700

Question ID : 1034357037

Section : General English

Q.1 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.
The man in the street

Ans X A. One who sleeps in the day-time
" B. Common man
25 C. A man with no place to live

#< D. Sophisticated person

Question ID : 1034357050

Q.2 Choose the word that means the same as the given word.
Imperative

Ans X A.Impish
< B. Imperial
" C. Mandatory
2 D. Immigrant

[ Question ID : 1034357046

Q.3 Rearrange the parts of the sentence in correct order.

The place at

P: Gulabrai which is

Q: Which the leopard was

R: Shot was the village of

S: Two miles from Rudraprayag

Ans o A QRPS
X B.PSQR
< C.SQRP
2 D.PQRS

[ Question ID : 1034357044
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Q.4 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.
There will be opportunity for you after passing this exam.

Ans X A. peril
«# B.ample
#< C.redundant
25 D. slight

[ Question ID : 1034357042

Q.5 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans X A.Pinnecle
< B. Pinacle
«# C. Pinnacle
/5 D. Pinnacel

[ Question ID : 1034357048

Q.6 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans X A. Reseusitete
75 B. Resussitate
X C. Resusitate

¥ D. Resuscitate

Question ID : 1034357049

Q.7 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No improvement’ as your answer.
1 don't know with who | will go for the concert.

Ans X A.whom I will go for
25 B. who | will go to
25 C. No improvement

«# D. whom | will go to

Question ID : 1034357040

Q.8 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.
To look down one’s nose

Ans X A. To keep things apart
25 B. To bring ignominy
«# C. To look contemptuously at
25 D. To get injured

Question ID : 1034357051
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Q.9 A sentence has been given with a blank to be filled with an appropriate word. Choose the

correct alternative.
I mark your absent in the register?

Ans o A Should

/% B. None of the above
X C. Shall

#< D. Must

[ Question ID : 1034357043

Q.10 Choose the word that is opposite in meaning to the given word.
Asperse

Ans X A. Abase
#< B.Scorn

4 C. Venerate
5 D. Traduce

[ Question ID : 1034357047

Q.11 Rearrange the parts of the sentence in correct order.

P: Ramesh and Suresh are good friends.

Q: As a result, their friendship has become strained.

R: While Ramesh is a good student, Suresh is often caught for mischief.

S: Teacher has appointed Ramesh as the monitor.
Ans ¢ A PRSQ
2 B.PSRQ
< C.RSPQ
2 D.SRPQ

Question ID : 1034357045

Q.12 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

When people start avoiding you (1)/in response to your venting, it means (2)/you are
stressing them off (3)/.No error (4)

Ans X A1

" B.3

X C.2

X D.4

[ Question ID : 1034357039

Q.13 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.
Hiccups are a reflex, analogous to (1)/the jerk reflex produced when a doctor (2)/hits your
knee of a hammer (3)/.No error (4)
Ans X A2
X B.4
X c

& D.3

[ Question ID : 1034357038
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Q.14 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No improvement’ as your answer.
No sooner has he stopped singing when the people clapped.

Ans & A had he stopped singing than
< B. had he stopped singing when
#< C. No improvement

#< D. has he stopped singing then

[ Question ID : 1034357041

Q.15 Choose the word that can substitute the given sentence.
A fear of darkness

Ans 4 A. Nyctophobia
< B. Graphophobia
< C. Gamophobia
25 D. Lipophobia

[ Question ID : 1034357052

Comprehension:

Read the following information carefully and answer the given questions.

Let the show begin! The snowdrops are fading, the daffodils are starting to tower above them,
the crocuses are running riot, and the lengthening days are slowly warming the soil. These
signs of spring mean one thing: it's time to start sowing.

You don't, however, have to do it all at once. Stagger sowing and you will be able to keep a
steady stream of small seedlings from windowsill to cold frames to the outdoors. This means
there’s still plenty of time to plan. One way to do this is to arrange your seed packets in order
of which need to be sown first, week by week. If something needs succession sowing, once
the first sowing is done, it gets moved two weeks down the line.

It might also make sense, if you're working off one sunny windowsill, to buy in plug plants of
things that are slow to get going. The likes of Simpson’s Seeds and Plants, Rocket Gardens,
Sea Spring Seeds and Organic Plants all offer a good selection, which they will send in the
post. If you haven't started off chillies and aubergines yet then these are the way to catch up.
The rest — from annual flowers such as calendula and cornflower to beetroots, turnips,
radishes, carrots, lettuce, brussels sprouts, cauliflowers, kales, peas — can be sown indoors.
These benefit from a warm start, somewhere between 10-18C, but once they are up and
pricked out they can be turfed outdoors to harden off; just bring them in at night for the first
few days.

If the soil is warm enough — about 8-10 degrees — you can sow straight outside. If you don't
have a soil thermometer, use your fingers: wiggle them into the soil up to your knuckles and
see how long you can linger. You should be able to bear it for at least a minute; it needs to be
cold, but not uncomfortable.

It also needs to be dry enough: this is best tested by crumbling a clump of soil on the surface.
If it looks like bread crumbs then you're good to go. If the soil needs drying out, cover it with
plastic, old window frames and cloches. While you're doing this, lay down some old cabbage,
kale or rhubarb leaves on top of the soil, under the cover; or use a piece of thick, damp
cardboard. Slugs love to congregate under there and you can swiftly pick off a generation
before they do the same to your seedlings.

| always sow broad beans, dwarf peas and radishes first, if the temperature is right — about 10
degrees. The radishes will be up in a week, the other two the week after, and then it's game on
for all the rest.

SubQuestion No : 16
Q.16 Which of the following annual flowers cannot be grown indoors according to the author?
Ans X A Kales

/5 B. Carrots
4 C. Broccoli

< D. Lettuce

[ Question ID : 1034357055
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Comprehension:

Read the following information carefully and answer the given questions.

Let the show begin! The snowdrops are fading, the daffodils are starting to tower above them,
the crocuses are running riot, and the lengthening days are slowly warming the soil. These
signs of spring mean one thing: it's time to start sowing.

You don't, however, have to do it all at once. Stagger sowing and you will be able to keep a
steady stream of small seedlings from windowsill to cold frames to the outdoors. This means
there’s still plenty of time to plan. One way to do this is to arrange your seed packets in order
of which need to be sown first, week by week. If something needs succession sowing, once
the first sowing is done, it gets moved two weeks down the line.

It might also make sense, if you're working off one sunny windowsill, to buy in plug plants of
things that are slow to get going. The likes of Simpson’s Seeds and Plants, Rocket Gardens,
Sea Spring Seeds and Organic Plants all offer a good selection, which they will send in the
post. If you haven't started off chillies and aubergines yet then these are the way to catch up.
The rest — from annual flowers such as calendula and cornflower to beetroots, turnips,
radishes, carrots, lettuce, brussels sprouts, cauliflowers, kales, peas — can be sown indoors.
These benefit from a warm start, somewhere between 10-18C, but once they are up and
pricked out they can be turfed outdoors to harden off; just bring them in at night for the first
few days.

If the soil is warm enough — about 8-10 degrees — you can sow straight outside. If you don't
have a soil thermometer, use your fingers: wiggle them into the soil up to your knuckles and
see how long you can linger. You should be able to bear it for at least a minute; it needs to be
cold, but not uncomfortable.

It also needs to be dry enough: this is best tested by crumbling a clump of soil on the surface.
If it looks like bread crumbs then you're good to go. If the soil needs drying out, cover it with
plastic, old window frames and cloches. While you're doing this, lay down some old cabbage,
kale or rhubarb leaves on top of the soil, under the cover; or use a piece of thick, damp
cardboard. Slugs love to congregate under there and you can swiftly pick off a generation
before they do the same to your seedlings.

| always sow broad beans, dwarf peas and radishes first, if the temperature is right —about 10
degrees. The radishes will be up in a week, the other two the week after, and then it's game on
for all the rest.

SubQuestion No : 17
Q.17 The synonym of the word ‘wiggle’ as used in the passage is:
Ans X A. Stacker

" B. Quiver
#5 C. Unwind
#5 D. Stout

[ Question ID : 1034357058
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Comprehension:

Read the following information carefully and answer the given questions.

Let the show begin! The snowdrops are fading, the daffodils are starting to tower above them,
the crocuses are running riot, and the lengthening days are slowly warming the soil. These
signs of spring mean one thing: it's time to start sowing.

You don't, however, have to do it all at once. Stagger sowing and you will be able to keep a
steady stream of small seedlings from windowsill to cold frames to the outdoors. This means
there’s still plenty of time to plan. One way to do this is to arrange your seed packets in order
of which need to be sown first, week by week. If something needs succession sowing, once
the first sowing is done, it gets moved two weeks down the line.

It might also make sense, if you're working off one sunny windowsill, to buy in plug plants of
things that are slow to get going. The likes of Simpson’s Seeds and Plants, Rocket Gardens,
Sea Spring Seeds and Organic Plants all offer a good selection, which they will send in the
post. If you haven't started off chillies and aubergines yet then these are the way to catch up.
The rest — from annual flowers such as calendula and cornflower to beetroots, turnips,
radishes, carrots, lettuce, brussels sprouts, cauliflowers, kales, peas — can be sown indoors.
These benefit from a warm start, somewhere between 10-18C, but once they are up and
pricked out they can be turfed outdoors to harden off; just bring them in at night for the first
few days.

If the soil is warm enough — about 8-10 degrees — you can sow straight outside. If you don't
have a soil thermometer, use your fingers: wiggle them into the soil up to your knuckles and
see how long you can linger. You should be able to bear it for at least a minute; it needs to be
cold, but not uncomfortable.

It also needs to be dry enough: this is best tested by crumbling a clump of soil on the surface.
If it looks like bread crumbs then you're good to go. If the soil needs drying out, cover it with
plastic, old window frames and cloches. While you're doing this, lay down some old cabbage,
kale or rhubarb leaves on top of the soil, under the cover; or use a piece of thick, damp
cardboard. Slugs love to congregate under there and you can swiftly pick off a generation
before they do the same to your seedlings.

| always sow broad beans, dwarf peas and radishes first, if the temperature is right — about 10
degrees. The radishes will be up in a week, the other two the week after, and then it's game on
for all the rest.

SubQuestion No : 18
Q.18 The author would most likely agree with:

Ans o A Succession sowing clears the path for other seeds.
5 B. Sowing broad beans if the temperature is below 10 degrees.
#5 C. If soil feels like bread crumbs then it's a bad sign.

#5 D. Soil needs to be warms enough to grow seedlings indoor.

[ Question ID : 1034357057
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Comprehension:

Read the following information carefully and answer the given questions.

Let the show begin! The snowdrops are fading, the daffodils are starting to tower above them,
the crocuses are running riot, and the lengthening days are slowly warming the soil. These
signs of spring mean one thing: it's time to start sowing.

You don't, however, have to do it all at once. Stagger sowing and you will be able to keep a
steady stream of small seedlings from windowsill to cold frames to the outdoors. This means
there’s still plenty of time to plan. One way to do this is to arrange your seed packets in order
of which need to be sown first, week by week. If something needs succession sowing, once
the first sowing is done, it gets moved two weeks down the line.

It might also make sense, if you're working off one sunny windowsill, to buy in plug plants of
things that are slow to get going. The likes of Simpson’s Seeds and Plants, Rocket Gardens,
Sea Spring Seeds and Organic Plants all offer a good selection, which they will send in the
post. If you haven't started off chillies and aubergines yet then these are the way to catch up.
The rest — from annual flowers such as calendula and cornflower to beetroots, turnips,
radishes, carrots, lettuce, brussels sprouts, cauliflowers, kales, peas — can be sown indoors.
These benefit from a warm start, somewhere between 10-18C, but once they are up and
pricked out they can be turfed outdoors to harden off; just bring them in at night for the first
few days.

If the soil is warm enough — about 8-10 degrees — you can sow straight outside. If you don't
have a soil thermometer, use your fingers: wiggle them into the soil up to your knuckles and
see how long you can linger. You should be able to bear it for at least a minute; it needs to be
cold, but not uncomfortable.

It also needs to be dry enough: this is best tested by crumbling a clump of soil on the surface.
If it looks like bread crumbs then you're good to go. If the soil needs drying out, cover it with
plastic, old window frames and cloches. While you're doing this, lay down some old cabbage,
kale or rhubarb leaves on top of the soil, under the cover; or use a piece of thick, damp
cardboard. Slugs love to congregate under there and you can swiftly pick off a generation
before they do the same to your seedlings.

| always sow broad beans, dwarf peas and radishes first, if the temperature is right — about 10
degrees. The radishes will be up in a week, the other two the week after, and then it's game on
for all the rest.

SubQuestion No : 19
Q.19 The author is referring to which show in the first paragraph?
Ans X A. Sowing in the garden

4" B. Signs of spring in the garden
#% C. Harvesting of crops

#5 D. Climate change in her region

[ Question ID : 1034357054
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Comprehension:

Read the following information carefully and answer the given questions.

Let the show begin! The snowdrops are fading, the daffodils are starting to tower above them,
the crocuses are running riot, and the lengthening days are slowly warming the soil. These
signs of spring mean one thing: it's time to start sowing.

You don't, however, have to do it all at once. Stagger sowing and you will be able to keep a
steady stream of small seedlings from windowsill to cold frames to the outdoors. This means
there’s still plenty of time to plan. One way to do this is to arrange your seed packets in order
of which need to be sown first, week by week. If something needs succession sowing, once
the first sowing is done, it gets moved two weeks down the line.

It might also make sense, if you're working off one sunny windowsill, to buy in plug plants of
things that are slow to get going. The likes of Simpson’s Seeds and Plants, Rocket Gardens,
Sea Spring Seeds and Organic Plants all offer a good selection, which they will send in the
post. If you haven't started off chillies and aubergines yet then these are the way to catch up.
The rest — from annual flowers such as calendula and cornflower to beetroots, turnips,
radishes, carrots, lettuce, brussels sprouts, cauliflowers, kales, peas — can be sown indoors.
These benefit from a warm start, somewhere between 10-18C, but once they are up and
pricked out they can be turfed outdoors to harden off; just bring them in at night for the first
few days.

If the soil is warm enough — about 8-10 degrees — you can sow straight outside. If you don't
have a soil thermometer, use your fingers: wiggle them into the soil up to your knuckles and
see how long you can linger. You should be able to bear it for at least a minute; it needs to be
cold, but not uncomfortable.

It also needs to be dry enough: this is best tested by crumbling a clump of soil on the surface.
If it looks like bread crumbs then you're good to go. If the soil needs drying out, cover it with
plastic, old window frames and cloches. While you're doing this, lay down some old cabbage,
kale or rhubarb leaves on top of the soil, under the cover; or use a piece of thick, damp
cardboard. Slugs love to congregate under there and you can swiftly pick off a generation
before they do the same to your seedlings.

| always sow broad beans, dwarf peas and radishes first, if the temperature is right —about 10
degrees. The radishes will be up in a week, the other two the week after, and then it's game on
for all the rest.

SubQuestion No : 20

Q.20 Identify incorrect statement(s) from the following.
I. Once turnips are up and pricked out indoors, they can be turfed outdoors to harden off.
Il. The author suggests to cover soil with plastic, if it requires drying out.

Ans X A.Onlyll
#< B.Bothland Il

7< C.Only |
4" D. Neither I nor Il

[ Question ID : 1034357056

Q.1 2y 7 g & gdar Ara fifKwi
TR ER A &S &R T &)

Ans X A sfafgeras gdam
/< B. T\ gEY
o C. 31 &
# D. 37 g
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Q.2 fFa fRrea & Tt 2reg wreuR gafzart 87
Ans X A. g, &EH, I

X B. %o, &, FcT

25 C. srgnTa, W, fa=r

o D. ¥, 22, T

Question ID : 1034357065

Q.3 Ry 7y arra 7 Iugs favm Rig @1 =g+ RSl
g™ & v o de &

Ans X Al
" B. -
X cC;
X D.-

Question ID : 1034357071

Q.4 fRg 7Y 2res oo w1 HEL AE TIA A HIfAQI
EE T

Ans X A T3S
o B. gy ga
X C. gy : faws
X D.fow g

Question ID : 1034357064

Q.5 @y 7Y arey &1 e A A
v @ @ g 8l

Ans X A Ul ad | S
o B. 31q0f adAe et
X C. dfery adae s
X D. 91T gdHH el

Question ID : 1034357069

Q.6 f2g 7y 21z &1 Iuw wTa fifS)
gam

Ans  F AT
K Bz
XCw
X
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Q.7 F=faf@a d § &9 &1 2res 379 &Y &1 ISTER0T &2
Ans o A 3T

X B.g™

X C.gd

X D87

[ Question ID : 1034357066

Q.8 F=fafl@d area A Y@ifera unT 1 areriar & A 3R 21 &1 w== fifSal
o genT g PR A 8t

Ans X A AR
o B. &R
X C. R

25 D. IR

[ Question ID : 1034357063

Q.9 f=fafae usr d, Ry g ar et & |, 39 e o1 og71 & o1t R 71g ggrer & oref &t
Td2s 9 & =< &l &l
T Hhe g ST

Ans X A. 3TOHME gl
& B. T, T 738 ST
X C. &iE a1 ohg fomT 71 g T
25 D. 3159d o BT

[ Question ID : 1034357073

Q.10 f&g g 21er o1 faeiiw oree w1 STl
FHUTcHh

Ans  F A UATHSD
/X B. goHTcHe
X C. 3eTTacHeh

X D. THIcHSR

Question ID : 1034357062

Q.11 F=fafEa areat § @ g+ arer 79 fifSg)
Ans X A. 3R faoma e & T <ar dt ag UH Wi T STl

5 B. faorg 3 Eie & uym = U o
X C. v faom 3 g & wmr foram at Sa= ud @ urd foman
o D. fosma 7 de & o foram SiR 39+ uee = U foma|
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Q.12 g 71g are & Iugeh farm Rig o1 9= fifSgl
ek gaell Ul Afwh R IR TSI 81

Ans X A
X B.()
o C.-
X D.-

Question ID : 1034357070

Q.13 fFm=fafEa gl & & W a7 fifKg)

Ans X A. 3 ¢fther & 7 tha giar dt Siedt Srar|
o B. fthch & thae & shRUT STed! 61 AT HehaT|
5 C. <19 & ¢fthen § thaT goIT T, SAfCIY STedl gl ST ur|
X D. # STedl 7 311 Feh1 <Riifen # 2fthen A tham garm ATl

[ Question ID : 1034357067
Q.14 F=fafEa usr §, Ry 70 ar Aol 7 @, 39 Rerea &1 999 & 51t g 710 gemer & o &t
s ®U @ =k AT 2|
AEL R g TS dh ST

Ans X A @R oft 9ga T 99T
X B. gfdar & ger 3§ ST
o C. ST URSH el
5 D. o= § Fgr o

[ Question ID : 1034357072

Q.15 fA=faf@d d & wia-ar1 21eg 32 781 872
Ans X A TFRR

X B.gsH
o C. Tohme
X D.dlg
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Comprehension:

ok TTRITST AT T 8| IR o SR WR Uid U f&Q 7Y €1 TeIieT i emydds U auT Ui U & IR
fareredt & 4 wg farehed g1

Feas, SAMGR], U, SATdT, B3 311 ot e Hew gt ST & 19<aTs ol Tad: T80 Yol el SiTdT & T8
370 MY H g Geaqul & ISTRT TIRT TTer ht Hifd 181 fopa SiraT, afces ag w@a: a1eg 81 gt [dare 7 oft
T & S=AWUT T T fohar Sirar &1 et Afen geat o Afae oneR 9 & 81 9t 9 Te s
g1eifes araeRon 8 wfthe Waty & 38 aegfRfa sl i o1 i g gt SiraT 21 st fom foneft qafug
3 fopelt AT ol 23aTT, T 3FR arh & ! &) TeaTE hgd &1

AT H AT A Gei[ur ¥ faerd giar 81 A H St & i qaTeT St e gl &1 T & S
I HfEATE H @A §T ITeh! TETIT BT TATH &hed & Rilfoh I U8 TR el & foh 39 TR

&1 G g G fohet o Ay off g1 Fehell & SHTCIg AT ST & 1Y ch ShIRUT 61 Ueh G@R h
TETIAT T U i &

U Y FaTuR AT el AT 1 7S UTT: Uk gek & UH oed & | U T Shaet AMa Siifd & faemm giar @
Ffch AT # 37 Sfial & Ui oft Seera faemm ghar 81 fonfSas o oF R sreafdes iR &ar 8l

3T 7 & foh Tt 7w Uan &) S9R A 9 8, S9fIY S IREWR U g1 1R aad | Aa UE gt
SR Y Tt urdiaT 21 feheaa o, O ofiR A dar ur gaiides Sk &ar 81

SubQuestion No : 16
Q.16 $2R hY T==ft urefaT sFT 27
Ans X A Tg-sifiaa
o B.9Ha UH
X C.dRar

75 D. gST-U1S

[ Question ID : 1034357079

Comprehension:

Qe T o T &1 werier & YR R uig ue iy MY €1 ek il earyden ug aut Uk U & IR
farepeat & @ T fered TR

TeaTE, SAERY, O, aaregaT, Bt SN sl A Tewr et ST 8 159<aTE i Wd: W1ed G ohel ST & T8
I 3y H & Teuguf & (3TehT TNT A1 h wifa A fenar A, afwh g T areg &1 et faarel A oft
T o ST T TATH foha STt & | Gt Afcen Feal o Afae sneR 9 g1 ¢ | 9aift 9 Gen A
T1effen SraeRon § Afeh Heaid # 8 axgfRAf ot Sal &t <t gl shgl ST & | STt o fonsdt gafs
& foneht AR oY &aT, GHEIAT SR i< &< ! &) G=aTs hgd &

AT H AT Aeh o1 +f} AT gia1 81 7S & 1= oh U ST el Td 8T & | UT: & 31
Y SRISATS # @ §Y ITh! TETIAT ol TATH hedl & adifch ST I8 TR el & foh §9 AR

6 TrwTd g geATg fohelt & a1 oft 5 Fendt & SafeTg FS TATdT & St S ShIRUT B Ueh G i
AT e U e &1

U ! GaTuR ATG el 471 8| 7S UT9: Uoh &k § UH e & | U 7 Shadl AMd Siifd & faemm giar @
gfch s & o= sital & ufy off daema frem = gtar 81 fonfaem e o R srcafes ik 3ar &1

IGhT deh ¢ foh @it 7 Tk 81 $2R ohl G 8, SafeIq I8 URER U gIAT =1fey | arsda & Ara o &t
SR Y Tt uref &1 R e, O SR ATe da1 R Haifde Sk ar 81

SubQuestion No : 17
Q.17 H=aTE & 1 T 82
Ans o A T
25 B.3ufea
X C.ugrs
5 D. g1e=
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Comprehension:

ek TTRITST AT T 81 IR o SR WR Uid U iU 7Y § 1 TeIieT i emgdds U auT Ui UM & IR
farerett & 4 g farehed g1

Feas, SAMGR], U, SATdT, B3 311 ot e Hed gt ST & 19<aTs ol Tad: T80 Yol el STTdT & T8
370 Y H g Geaqul & ISTRT TIRT TTer T Jifd 181 fopa SiraT, afces ag w@a: a1eg 81 gt [are # oft
T & SF=IWUT T T fohar Sirar &1 et Afen Feat o Afae omeR 9 & 81 9aft 9 Te s
g1Rifies araeRon 8 wfthe Watu & 38 aegfRfa sl i o1 i g et ST 21 st fom foneft qafug
3 fopelt aeqfRATY el 2T, T 3fR areh & ol &) TeTE hgd &1

AT H AT A Gei[er i faer giar &1 A # St & Ui ST et e g &1 T & St
I HfEATE F @A §Y ITeh! TR T TATH &hed & Rilfoh I U8 TR el & foh 39 TR

&1 G g G fohelt o Ay off g1 Fehell & SHTCIg AT ST & 1Y oh ShIRUT 6t Ueh G@R b
TETIT T U i &

U Y FaTuR AT gl AT 1 7S UTT: Uk geRk & UH ohed & | 0 T Shaet Aa Siifa & faemm giar @
Ffch AT # 37 Sfial & Ui oft Seeara faemm ghar 81 fonfSae o oF R sreafdes ik & 8l

3T I & foh it 7w U &) S9R Y 9 8, S9fIY S IREWR U g9 91fe g arad # Aa UE gt
SR <Y Tl ureiaT 21 feheaa o, U ofiR A dar ur gaiides Sk &ar 81

SubQuestion No : 18
Q.18 I~k iz a1 2ftfer e gm?
Ans o A AfE e
X B. Fw
X C.garer
X D. g

[ Question ID : 1034357075

Comprehension:

Qe i o T &1 werier & YR R uig uer iy MY €1 ek il earyden ug aut Uk U & IR
frepeat & @ we) e TR

TeaTE, SATERY, O, ZareaT, Bt SN st e Gewr et ST 8 15<aTE i W W1ed G hel ST & T8
S 3y H & Feurguf & 13Tkt TRNT A1 h wifa A fehar e, afh g T areg &1 et faarel A oft
T o SIWUT T TATH fohat STt &1 Gt Afcen Feal o Afae sTeR 9 &1 ¢ | 9aift 9 Gen e
T1effen SraeRon § Afche Haiu # 8 axgfRAT ot Sal ot <t gl shgl ST & | ST o fonsdt gafg
& foneht AR oY T, GHEIT SR &< &< ! &) G=aTs hgd &

AT H AT Aeh T[T +} [T gia1 81 7S & 1= oh U ST ehl Td 8T & | UT: & 31
Y RfSATS # T@d §Y ! TETIAT I TATH hedl & adifch AT I8 TIhR el & foh §9 ThR

6 TrTd g geATg fohelt & a1 oft 5 Ferdt & SafeTg FS TATdT & St S ShIRUT B Ueh Gk i
HERIAT el U e &

U ! GaTuR Ad el 471 8| 7S UT9: Uoh &k § UH e & | U 7 hadl Ad Siifd & faemm giar @
gfch 7S & o= sital & ufy off daema ferm gtar 81 fonfaem e o R srcafes ik 3ar &1

IGehT deh ¢ foh Gt 7 Teh 81 $2R ohl G 8, SAfeIq I8 URER U gIAT =1fey | arsdd & Ara o &t
SR Y Tt urefT &1 R e, O SR ATe dar R Haifde Sk ar 81

SubQuestion No : 19
Q.19 Ags R siter & HIROT HERIAT T TATH hed 872
Ans X A TH

5 B. aar
X c.&h

w# D. qITcld
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Comprehension:

ok TTRITST AT T 81 IR o SR WR Uid U f&Q 7Y €1 TeIier i emgdds U 9T Ui U & IR
fareredt & 4 gl farehed g1

Feas, SAMGR], U, SATedT, B3 311 ot e Hed gt ST & 19<aTs ol Tad: T80 Yol gl SiTdT & T8
3T MY F g Geaqul & ISTRT TIRT TTer ht Hifd 181 fopa SiraT, afces a8 w@a: a1eg 81 9t [are 7 oft
T & SF=IWUT T T foha STt &1 et Afen Feat o Afae oneR 9 & 81 9t 9 Te s
g1eifes araerRon & wfthe Waty & 38 aegfRfa sl i o1 i g gt ST 21 st fom foneft qafug
3 fopelt AT ol 2xaTT, T 3fR areh & ! &) T=TE hgd 21

AT H AT A Geiur i faer T giar 81 A # St & i ST et e g &1 e & S
I HfETE H @A §Y ITeh! TR T TATH &hed & Rilfoh I U8 TR el & foh 39 TR

& TG T TS fohdt & a1 +ff 8t Tehdl! & 3Ufciy A7 SATIAT o a9 o hIRUT &1 Yeh GER hl
TETIT T U i 8|

U ! FatuR ATG el T4 81 7S UTg: Ueh gek & UH aed & | 0 T Shaet Aa Siifd & faemm giar @
Ffcth AT # 37 Sfial & Ui oft Seera faemm ghar 81 fonfSas o oF iR sreafdes SR &ar 8l

3T I & foh Tt 7w U &) S9R Y 9 8, SafY S IREWR U g1 91fe g arad | Aa UE gt
SR Y Tt urdiaT 21 feheaa o, U ofiR A dar ur gaiides Sk &ar 81

SubQuestion No : 20
Q.20 T+t Afdes gl a1 A suR Far @2
Ans X A fag=n
& B. gl
X C. urgfefar

25 D. srgeneofig

[ Question ID : 1034357077

Section : Discipline1

Q.1 uaeff smamrstt it ww= & Fafofle @ 7 9 &= a1 a8 gafea 82
1. 7-8 av - I== gg TE u=ta ok Rl &1 wrameit <1 9g-if|ie gl Serar @
1. 11 avf - o= Gap &) wea & ufar Tudff sra=mait a1 gof & era @1

Ans X A laurll gt
X B. e |
XK caglag
 D.Faa |

[ Question ID : 1034357099

Q.2 Inthe context of states of Arousal in infancy, which of the following state is correctly
matched with their movements?
I. Drowsiness — Somewhat active.
1. Waking activity and crying — None, except for sudden, generalized startles.

Ans X A.Bothlandll

«" B.Only |
25 C. Neither I nor Il

25 D.Onlyll

[ Question ID : 1034357085
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Q.3 TSI 3R iR-ArIfoIe e &t urd—w Fi Aot & deof &, Fafaf@a § @ o= w1 ga a&d

gafera 82

. Gt HEER - S @erdl g1 A8l AT 8, wfeh &1fores ) o1 s ft Tmar 81

1. QehT=d TS T - T 3rchel fAIST & 1Y @rdT & S M9-uTH & a=al ZRT IuahT fehg
ST a1 f@=T @ e gla & iR 3776k hele 311 Al 1S U T8l &hd &l

Ans X A &ad |
& B.&ad i
o C.|autll g
X oD.Ag g

Question ID : 1034357098

Q.4 =@ d @ &9 91 YA rgdhedre &l gui hedT 8?7
|. Tg AT T Teh +U gl
I1. T GHI Teha ¢ fo 31 a=all &l Foft-aoft arafaerdar ot oA RR & iR AT @l W@ g @
31T A F wRerh gt 21
I, Srgdheare a1 3eaad A & fag fomrst A = uddia st f o dar $in

Ans X A ldurll
o B. L IlTurlll
X C.laarl
2 D llq il

Question ID : 1034357093

Q.5 Crib death is also known as .
Ans & A Sudden Infant death syndrome

/% B. Microdeletion syndrome
#< C. Duplication syndrome
#< D. Deletion syndrome

Question ID : 1034357084

Q.6 Which scale is used to assess the neonatal neurological condition?
Ans X A. Ganoid scale

< B. Placoid scale
«# C. Brazleton scale

< D. Apgar scale

Question ID : 1034357082

Q.7 In which socialization process children learn appropriate gender roles at an early age?
Ans X A. Gender - Differences

< B. Gender — Stereotypes
25 C. Gender — Identity
" D. Gender - Typing

Question ID : 1034357094
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Q.8 fFa udteruil & O wer a1 Frf anfAe g1 & o1t ag R are gia & fon fonelt =af<s & ary ardy
ferat argaTd &2
Ans X A. Hear dfed
X B. Wear Afey

X C. o9 Afey
o D. g afsd

Question ID : 1034357088

Q.9 yur# fFAfaf@a § & w9 o gerae S99 Hafda oy @ w8 v @ gRfaa g2
|. G Beue™ &Y g - 8 9wl
Il. g1 gorae | gig -10 At
Ans X A Sad |
K B.aglagtll
o C.|aurll gt

X D.&aall

Question ID : 1034357083

Q.10 How many layers of the gastrula eventually become the basis for all bodily structure as the
cell differentiation continues during the embryonic stage?

Ans X A Two
" B. Three
< C. Four
25 D. Five

[ Question ID : 1034357080

Q.11 In which type of attachment an infant cries or protests when the primary caregiver leaves
and actively seeks out the caregiver upon his or her return?

Ans X A. Ambivalent attachment
«# B. Secure attachment
25 C. Avoidant attachment

/% D. Disorganized — Disoriented attachment

[ Question ID : 1034357095

Q.12 According to Piaget, which term is used for capacity to store mental image or symbols of
objects and experiences?

Ans X A. Critical ability
«# B. Representational ability
25 C. Flexible ability
25 D. Learning ability

Question ID : 1034357089
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Q.13 foi g & deof &, F=faf@a 7 @ &9 w1 wus 5 87
Ans X A. T8 U ARKIT 3119 g 3R ST Taie 2nifar 3R Iga ot wra-m 9 @
o B. I8 qoNI R Afgersii & g Adae a1 agiie siaR &

X C. gg 3 fAft ot Teffa o & STgi il ok TTel GHT-dT & QrHTfoieh, 3iffes SR A% SIeR
TR JewTq foar Srar @

& D. g8 Te fafre Sirdiadn & gew & forg sifgdta At s areft fafers argard, segr, v §

[ Question ID : 1034357097

Q.14 3ATeH- AR T §?
1. gg freft Y ermramail oiik waron i qufTee ok geaichTeHes AFTAS awfR g1
II. 7 gt gt S g1
Ans X A had |
X B.&Faa ll
Kcaglag
o D. | Tutll =t

[ Question ID : 1034357096

Q.15 In the context of cognitive development, which of the following describe piagetian
approach?
I. It describes qualitative stage of cognitive functioning.
11. It measure the intelligence a person possesses.

Ans X A.Bothlandll

«" B.Only |
25 C. Neither I nor Il

25 D.Onlyll

[ Question ID : 1034357090

Q.16 ud difthar faR(Rrarst & sgarR) f diqsl & dedf &, @ d s o gmnadiana

gifora 82
1. ShéleRvor - T2 Qe FRUfA & ek Ugeg WR o higd @vd & SR guRl @t ol oI &1
II. Srgdheare - a=a Sfia= o1 ST 39 a¥g il ol 3 & ot Shifaa =i &

Ans X A ldurll gt
o B.ad |
X C.FHaall
K D.Agragl

Question ID : 1034357092

Q.17 In the context of Apgar Scale, which of the following statement is correct?
1. After birth, most babies are assessed using the Apgar Scale.
1. It helps us remember its subtests appearance, pulse, grimace, activity and respiration.

Ans X A Onlyll
4" B.Bothland Il

5 C.Onlyl
#< D. Neither I nor Il

[ Question ID : 1034357086
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Q.18 FIT-UEHRUT JUNTH HHATeHE fAehre Surrl & & U §, 39 ar d faf@a d d s ar
FYT T 8?
1. Tg erRom, Sfm, Syfa ofik TwwaT wTa | enfAe ufthar R HRa g@ar @i
Il. g S=T § eafomra siaR & 9fdd g1

Ans X A dad |
< B.&haa |l
o C.|3uTll gt
XD .Argragl

[ Question ID : 1034357091

Q.19 URfYe Tau= # iR e & Teaf &, A=faf@a d @ 9 91 wy= dlex St & avfq
AT 82
1. 7T HieR fehew § 9t miwafai I Srear ofiR gen anfAe &1
11. TTE AR hiere A S aiaafat 3R erig- g1y Iu=rg A« gar & 4 R a9

Ans X A ATEATE I
< B.&ad Il
X C.dhad |
o D. | JuTll 34T

Question ID : 1034357087

Q.20 The importance of the prenatal environment of the normal development of the embryo is
illustrated by .

Ans & A Thalidomide tragedy

/& B. Minamata tragedy
#< C. Chernobyl tragedy
25 D. Bhopal tragedy

[ Question ID : 1034357081

Section : Discipline2

Q.1 ag-aren fAeror & R fAeht oft werr a1 Tge e wwa Reafaf@a & @ e aral &1 wm @
afey?

I. g Bter g iRy v 4-5 5 &l
1. fremeff et IRt TR 3R eTaTehdr & AFTUR U GHg @ g5 Tg d o1 Y srgafa & st
eyl
Ans X A e |
o B. 13Tl
X C.dhadl

K D.Agagl

[ Question ID : 1034357118
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Q.2 gurasf fem & deof & guraer J w9 @ sraar anfae &2
1. arfSies nfafafa R gt sikgen & s @9 & srEawR|
1. e, B SR Tifid & SrawR|

Ans X A had |
X B.aadll
Xcagiag
o D. | TuT Il =t

[ Question ID : 1034357107

Q.3 F=faf@a & @ wi=-a1 fAeror s e o fadt =8 82
Ans X A TE-geTy fafdy

< B. uRaierr fafy
X C. @ fafy
o D. Tae fafa

[ Question ID : 1034357112

Q.4 U aga nfag FRdu guigga w&per g forar mam am
Ans X A S IAERA

X B. 3rcths fomt
o C. Adery &R
75 D. 99 g1

Question ID : 1034357119

Q.5 g ad & mgrean wish A sro=ht 7 e gt 3= FA & Y Sammw F ga sif@e R
T AT UT?

Ans X A 1938
& B.1944
X C.1936
< D.1940

[ Question ID : 1034357111

Q.6 fAerh-Ffea gfeemior H ot e d HHarg & 379 § w9 i ag dHang 781 &2
Ans o A 18T 981 ITR IR A Shied g1 el

X B. Ieich STTGIR TTIcHeh Udhfdl ol BT &
X C. o & dt 959 3fR Tui B IS jomsr T8 §
2< D. fRyereh UTeuehA O e deh &t Hifda @

Question ID : 1034357114
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Q.7 # fonelt uepR o1 afgsRvor ar sredfiepfar enfae &1
Ans X A Ruciof@a eragr

o B. uTaquf FagR

X C. o =agr

& D. Ao =R

[ Question ID : 1034357105

Q.8 r=al ol f:3[eeh iR srfard fAvem o1 sifder aifafaom, 2009 Ty i ey & Tt s
R 3R rfeard fen e et g |

Ans A 6-14
X B.12-14
X C3-6
X D.15-17

[ Question ID : 1034357101

Q.9 In which system of governance it is the people who give the power to government to make
decisions and enforce laws?

Ans 4 A.Democracy
< B. Monarchy
< C. Dictatorship
& D. Military Coup

Question ID : 1034357100

Q.10 YR d@fay™ gur & ar # fA=fafEa d @ 9 91 = 9@ =8 82
I. Qe Gfdrem 9T i 7T 1934 d Y 7 o
II. W<t Tt it 3 i g 6 7 A
111, SfAe™ T A Tods YR & fag dfdem @1 agier dar ferar

Ans X A lldatil
X B.laurll
o C.ASIAZINAZ
X D.dhad |

Question ID : 1034357104

Q.11 A Y fF ge et & wu & oy 3aa & fF simuehl wen d o=l Y g sié wwer | diem
&t fafre gue g 919 it eregl 1 98 ITaRor A1 99 | fAEfaf@a A @ ol ar wr
uferey gt gm?

1. T9g uR guf fsr 7 ofi v o @ Ih Taw & ar d did gaf w)
1. BTl & 3170 g &l T A HE&T I B o HIY HaATE e R ITh! TS ol argfes
T @ g A & g Fg|

Ans X A cadll
X B.Iaurll &=t
Xcagtiag
o D. Fad |

Question ID : 1034357116
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Q.12 BTl & FFATHAEAT & Tl ol Aep & forg Frafaf@a 7 @ o= ot worifa o1 Suzi frar s
HepdT g?
1. B @ rfdyes aRfAa gl
II. BTl &l HRIVR A THT YT Hl HH B
111. BT & fog were Riam

Ans X A laurll
X B.Lllgurll
K C.daalll
o DIl

Question ID : 1034357117

Q.13 When was the Hindu Succession amendment Act passed?
Ans X A.2006

X B.2004
X C.2003
& D. 2005

[ Question ID : 1034357102

Q.14 ¥ifaes ardraror R AR &R yargdhia fRAe1o1 arareRor I9 Y ragehdr g1 39 Wifas
ITATeROT & Siafd /T Smar 87
1. wef & yaR
Il. gaTER

Ans X A adll
&K B.&aw |
o C.|aurll gt
XD g ag

Question ID : 1034357113

Q.15 ______ g¥a & o aaferures ufafthard & sit eamdiRes ofik axagiRes ulRad=i @ &t &1
. WTeATg
Il. STRT=<RaT

Ans X A ldrllaEm
o B. had |
Xcaglag
< D. Faa i

Question ID : 1034357115

Q.16 S/ wrufies fen swrfsrn (DPED) & deef &, fAfaf@a 4 @ sla a1 sy 9t &2
I. 399 goch @ HegH AT aret gl & Tehien?or uR fasia sk f&am
Il. 98 YRd TR & G99 9 FAY hrfehdl & @ T Tl

Ans X A Gad |
K B.&aw ll
o C.laurll =
XD .Arg g

Question ID : 1034357108
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Q.17 uRfA fem & A iffewor & @8a ol ure =t & &g 2001 7 i 91 FwrferA s forar mar
Ur?

Ans X A wREei IS
X B. #qeATg e gier
o C. 9d e sifvams
X D. W IRa M=

Question ID : 1034357109

Q.18 WRA ® Grdsii=eh T Jaraii & arR # A=faf@a d @ 9 a1 sy agr @2
|. GRAR T g 3R T Telrell &l
1. Teh uTAfies ey dhg Teh Urfior 85 & s 1Tia Rl e @I ohl eher el 21
111. areit ur afeadt 7 &1

Ans X A had |
A B laurli
A ColLaarlil
& DTl

[ Question ID : 1034357103

Q.19 gaA=f fAen Fir sravgerar i Agagofar Fm §?
1.fA9 smasaehdr aret a=dl ot ST SR e & WA @t J HS SIS BT AT HAT USAT 8
II. ag 9aft BT &l Ghet 811 A Ae S T Ueh SgaR asianl gl
Il. Ig Heiy Rl &t & sl &t Hifad wear g

Ans X A It
< B laarli
o C.laull
X D. Il

[ Question ID : 1034357110

Q.20 In the context of discrimination, which of the following pair is correctly matched?
I. Direct discrimination — Occurs when there are provisions and practices which put girls
and women at a disadvantage.
1I. Indirect discrimination — Occurs when gender is used as an explicit reason for
discrimination.

Ans  # A Neither I nor Il
25 B.Onlyl
75 C.Both land Il
< D.Onlyll

Question ID : 1034357106

Section : Discipline3
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Q.1 fF=faf@a & & &= &t v $6t-omd= oRar & w@dfoa 8?2

Ans

1. drreft
1. geITeft

X A Fae |
o B. 13Tl 34
Xcaglag
< D. &= i

[ Question ID : 1034357129

N

Q.

Ans

Which of the following is the characteristics of the young language learner?
1.They use language skills long before they are aware of them.
1I. They have a very short attention and concentration span.

«" A Bothlandll
2 B.Onlyll

#< C. Neither I nor Il
25 D.Only

[ Question ID : 1034357127

Q.3
Ans

fRieft o 6t forw e dentem sifdfam gRr 8 s # enfae farar mar ar 2
X A, 20ai Gy Genee rfdfRam'1966

o B. 2131 Gfdem e srfafamm’ 1967
X C. 224t Gfaym Genem srfdfaam’ 1969
X D. 193t dfqem e sifafmm'1966

[ Question ID : 1034357132

Q.4

Ans

el | 3R 1| &, yafaror @ dfdq srauronefierr & Areqw @ sreug fohar Sirar &1
1. ST
1. 7ifora

XA Fadl
X B.daa I
o C.|3uTll =t
XoD.Agagl

[ Question ID : 1034357137

Q.5

Ans

ffafea d 9 a9 91 sy 9@ &2

1. for=efl &Y TmTeR Rttt & it i gt gr srrg waE g @)

II. af& PQ 3k R 3 e faig &, af fonvunl g1 a=1mg o1 srrepfar ik ol hloT QPR & &0 & ST
ST gl |

X A Faall
o B.lauTll a1
Xeagtag
X D.dhad |

Question ID : 1034357136
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Q.6 Which of the following combination is NOT correct regarding properties of addition in
natural and whole numbers?
I. p+q = q+p where p and q are any two natural/whole numbers — Associative property.
I.(p+q)+r=p+(q+r)=p+q+r—- Commutative property.

Ans o A Bothlandll

25 B.Onlyl

< C.onlyll
25 D. Neither I nor Il

Question ID : 1034357135

Q.7 3¢ fru fafy § foreht mh 82
Ans o A GRET - aRE

X B. 3t

X C.smgft

X D. =

[ Question ID : 1034357130

Q.8 f=fafEa & @ =9 a1y adt 82
1. +2 3R -2, +3 31k -3 faufia uepfar areht dwrait & g g
1I. 1 9@ SI& A= fr S 21
. (+p) + (-p) = O [4&, p ge goifer a1
Ans o ALl TUTI
KB ATl
X C.Faal

X D.llarlil

[ Question ID : 1034357134

Q.9 fF=fafaa & @ wa-<ff RAemfi-Fia Iurm fi fatvar 82
1. Fe1eh et Bl & foI Ues Afse & &0 & Br &ar g i 3§ fva wR #gRra gifd« g1
1. fveren fRreror siftem ufehar F g GauR ghar @ 7 s uferen|

Ans X A had |
X B.AgI AT
o C.had Il
& D. gl =t

[ Question ID : 1034357125

Q.10 uRuaadr T 8?
1. g I uRa=i 1 quf &=ar @ St yafarofta g @ srdengd w@d= &1
1. Tg faepra & uferar @ Tefda @1

Ans o ATl ET
X B.daa I
X C.Fal
X D.gagl

[ Question ID : 1034357123
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Q.11 Qah fAefeh U & WIS & ER & aaaeUT edr @1 9afaRor iR Uga a1t U9Ta ol 31e0a et &
forg 321 39 &R &Y eereuT forg dgaf 7 &t of?
|. IRTE, TeadT SR AR A & Ahum & AT smutsTenl ZR1 &6 1€ sgaeT|
11. ¥R TATHT R AN aht WIS, s iR uRag sawur ue = &Ra g1

Ans X A dadll
o B.1TuTll S
Xocagtad
X D.&had |

[ Question ID : 1034357139

Q.12 1950 # 3rraeft i & foha=it wranait @t enfae fomam wam an?
Ans X A.8

X B.12

o C.14

X D.16

Question ID : 1034357131

Q.13 Qﬁﬁﬂ@ﬁﬂﬁﬁﬂm%ﬁﬁﬂﬁﬁﬁmﬂﬁﬁ@ﬂﬂﬁﬁ%qﬁﬂ@ﬁzﬁﬁmm

. ﬁaﬁaﬁﬂaﬁ#aﬁﬁmﬂﬁﬁmma}rﬂﬁaﬁzqﬁﬁmmél
1. 327 waf e uR wuF FHigd FRA & ITh! TEaT &, IETER0T & I, wie-wHe-wT |
pl TR, 3R ©TR- VY -TR # st g

Ans X A dadll
X B.&hae |
Xocagtiag
o D. | TuT Il 4t

[ Question ID : 1034357128

Q.14 &, 99y ik uRfafai & arasig sl ok el & diw gamnei & vaR ok arada
! GRIYUTSTHS 991 | Agg Hean gl
1. &fiwi

II. S«
1. Afdr

Ans X A hae lll
X B.laarll
X coaai
" D | Ilaaril

[ Question ID : 1034357120

Q.15 fAm=faf@da d & = a1 of T ares Ieare (speech production) # enfae 82
Ans X A few

X B.agw

X C.f

« D. G

[ Question ID : 1034357126
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Q.16 Which digit is called the place holder in the decimal system of numbers?
Ans X A3

& B.0
X C.1
X D.4

Question ID : 1034357133

Q.17 RN & g & R=faf@a & @ @ ar g g s a gafea @2
1. sy fATRON - ag I fATRoT =t HEfifa wear g St S a1 srHe & w@a: 3= gl 81
1. 3riafer srfAtzom - aRoms ured A & forg forelt fovar & ueefs &) Geffa e=ar 21

Ans X A ldrllaEm
&K B.&aw |
o C.ATE I
X D. &hae i

Question ID : 1034357124

Q.18 The process that produces results of processed data for getting useful information is
known as .

Ans X A. Control
/< B. Storage
" C. Output
25 D. Processing

[ Question ID : 1034357121

Q.19 =gl &} 31U+ cafemTd HeY iR gaa &l @ SR |TeH aheet & g viefga el 39 Ry g
FHYU Tt HIE FA F g gep PAeren a=ai @ = a1 uet 781 Y@ e 8?

Ans X A. oRIT 3T WTsfchel Il Tehd &7 3FR 81 df SOk TaRT T foha= fR=amar
25 B. 71 3y eft v vt | 3 82 afe g, at Sivet o IR 7 Sruet gy ot ford
< C. 1 37Tk aTeT S7R T 31TUeh URaR H fohelt $fiR <Al awg 82 afe &, af uar 39 aafh &1
qdTg|
o D. TEI-CIEl § 91 & 3fR U o foh ST68 98 8/9 a9 o T, at I8 el gl UT?

[ Question ID : 1034357138

Q.20 FogeR FRAeA h ALU SIRCU Rt GG U@ _____ gl STt gl
Ans X A.ZYC (Input)

X B.RAM

< c.dv & (PC)

«# D. di.dtg, (CPU)

Question ID : 1034357122

Section : Discipline4
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Q.1 *He & D a=al &t R-A9 Sfia= 7k ok _____ Sl monforal & aR | uedar sigyd ueH &

Ans

a2l

1. STt =sh

1. gter-<hie Seier

111. 3rafAe R Idzar

X A deell
X B @l
K C.dhad |
o D. |, Il

Question ID : 1034357146

Q.2

Ans

AMRer e, fren uferar @1 Tes of = ofv ol 87
1. BT 31g= &R Sfias # eamifves nfafafal &t enfarer e dEa &1

Il. BT 9g 9uzIa & 6 Uer afeha aut Ty Sfia= deft 39 aafemre faer ot aerar <t @ sk

I8 AT Y ATl T GTHAT hed H e St gl

o Al T Il S
X B.ATgt ATl
X C.daall
X D.dhad |

Question ID : 1034357159

Q.3

Ans

Hell & TR 18T & 1Y Yehiawur & T & Rafaf@a & @ o9 a1 s agh 82
. ehell TSR farsiT= & fawral &Y aifder Jrer o= Wepdl 21
1. ThfT, S5 SR dfdr ™ 1 aifder srertfer afterT a1 STaT 21

X A Fae |
o B.1TuT Il 341
Kcagiag
< D. &= i

Question ID : 1034357144

Q.4

Ans

¥ e, gre, dige e anfae €1
1. anf arq &I
1. 3fiu=nRer nfafafeat

XA LTl @
X B.&aa i
XKcagiagi
o D.ad |

Question ID : 1034357157

Q.5
Ans

fr=faf@a d @ ot a1 o= &1 ey T8 &2
o A AT REM o Repret ot v Azt &

25 B. ufeRer yomelt 3R ot wR # GUR Hal &
X C. Rt ik uftsen Y THwT Sl HH Hear @

X D. ThHdTY HH T &

Question ID : 1034357147
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Q.6 T Tt % =g ot ST SIar g

Ans X A gF uamrer

/< B. Tg THGRR
X C. uepfar 7w,
o D. T TRHR

[ Question ID : 1034357142

Q.7 Depending on the kind of food they feed on, consumers can be divided into three groups.
Which one of the following is NOT a correct match?

Ans X A.Frog - Secondary Consumer
< B. Snake - Tertiary consumer
25 C. Grasshoppers — Primary Consumer

«# D. Rabbits — Secondary Consumer

Question ID : 1034357140

Q.8 gl | A IoTe fohe 39 & = glar @?
Ans X A 10-12 a9

& B.14-16 af
o C.12-14 T
K D.1517 a9

[ Question ID : 1034357152

Q.9 M 3(1/2) @ 4 af Y 1Y ek, T= UH Dt ATt e e & qaw g §1 39 g F A=
I @ A faf = It 1 Sugih #Ar ude wd &1 59 UhR & B i kiG]

Ans X A TaIEd
o B. gganidd
X C. guEHiaREdA
25 D. hegefierde

Question ID : 1034357148

Q.10 1986 # d=r1 fRy 7Y foReik =ara RAdues # & Siforat & <ol & oI uraw nfaw § 3799 @ &
ot & siforai &2
|. A & Ioeied | fhaiRi
1. TuTe 3R FReM Y STaThdl I T

Ans X A g lATEll
o B. 13Tl g
X C.%ae |
X D.&aw i

[ Question ID : 1034357154
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Q.11 &Y Sfta 3R 1=t ANTReaT Yk eaagTies Gohet & O Tpet 9k wr & et auf & =
AT AT 3= ANTReRdT & forg fawm o &2
1. R T I R
II. SeeR o=
ll. 59 Sa1sd

Ans X A lldaTlll
K B.laarll
o C. I Il
75 D. ae I

Question ID : 1034357156

Q.12 fF=fafEa d @ wi= ar wates 98l 82
Ans X A SR - srsesk @

o B. YT -ER T

< C. pedld - SR &

2 D. RIS - ARTER WA

[ Question ID : 1034357145

Q.13 AT FHATST i FRT AR U & T Hhgd &2
Ans X A U=

X B. v

o C. 3yfa

& D. sEfea

[ Question ID : 1034357141

Q.14 31Tk gor T foren=y &
1. Ae@E

Il. STR=HATT

Ans X A ATEIATE I
o B. 3Tl 3
X C.%aa |
X D. das i

& forg aifrer witfem gt &1

[ Question ID : 1034357155

Q.15 According to larson, the modern adolescences are characterized by ______.
I. Extended schooling.
1. Delayed adulthood.

Ans X A Onlyll
X B.only|
" C.Bothlandll
2 D. Neither I nor Il

[ Question ID : 1034357149
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Q.16 fhMRTaTar A erFfes A8 6 s ARt & day A fAafafaa § @ a9 a1 sy 9@ &2
. uRuererar &t UrAfAes Agea /1T STTaT Tl
I1. et a2 5 11 3R 15 a1er & o=d amrak W REid 81 & ofk oo e &1

Ans X A ATEIATEI
X B.&aa I
X C.%ad |
o D. | TuT Il =t

[ Question ID : 1034357150

Q.17 fagy i Rk Seear ____ & Sy =AW= ol
Ans X A.1950

X B.1920
X C.1930
& D.1980

[ Question ID : 1034357151

Q.18 AFRAF T THSH § 2 g Sl FRaE gfaw grT Rulé fag 7y & F=faf@a @
@ I G139 HRBI A Q T &7
|. Tqet auT U fi fgar
II. 9o afgshr
1. mft

Ans o AL Il TuTIll
A B laarll
X cC.Faall
X D nauri

[ Question ID : 1034357153

Q.19 Which one of the following is done every year to prevent children from common diseases
like Diphtheria, tetanus etc.?

Ans X A. Dental checkup
< B. Eye checkup
25 C. Comprehensive health assessment

" D. Immunization

[ Question ID : 1034357158

Q.20 F=faf@d & @ = fen 1 3e2T 2?
I.as a=
II. 3raeileh
1. 3rgva fi sifaafs

Ans o A lITATII
X B. &hae llI
X colgrn
X D.dhad |

Question ID : 1034357143
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Section : Discipline5

Q.1 Inthe context of freedom, which of the following statement is correct?
1. It means the opportunity for self-gratification.
1. It mean the setting aside of consideration for others.

Ans X A.Onlyl

< B.Onlyll
4" C. Neither | nor Il

/5 D.Bothland Il

[ Question ID : 1034357168

Q.2 fren & forg @denfares arauri & e A Frafaf@a § @ &= a1 wu= wdt 82
1. foreft 221 A o & v fasiig i WRaR & orma 8
1. vz #, fvan d@fdrum & 7o =t o1 ge B @, dhae T3 € g e @ ok dfaw
nfafafrat ) Ffe s 1

Ans o A Shad |
X B.&aw ll
X C.laall =t

XoD.Arg gl

Question ID : 1034357178

Q.3 = sl & ad e sifvram & siaefa Rfya angeRe derem nfafafdal i gtsen a=rd 7
81 FafafEa § & w9 @ 3 angeRs e afafafai &2
1.9eR g@e=
II. gTE-THTR

Ans o ATl AT
X B.&ae |
K C.FHaall

XK D.Ag gl

[ Question ID : 1034357176

Q.4 Which of the following pair is not correct in the context of methods of assessment?

Ans o A. Pear Assessment : Guardian‘Assessment
25 B. Individual Assessment : Activity done by a included child
< C. Self assessment : Personal assessment

25 D. Group Assessment : Co-operative assessment

Question ID : 1034357166
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Q.5

argeTiaes wrfterdt & deof & Feafaf@a § @ @19 a1 s a8t 82
1. ren-frar RYeres v sitaenRes argerfAes urfier 21
Il. TE SRt 99g HuaTRen Angefie WrfleRt 1

Ans X A ATEIATEI
o B.had |
X C.adadll
X D.1gur gt
[ Question ID : 1034357169
Q.6 #rar-faar 6 sffer & e § Afaf@a § @ o a1 wu= ag 8?2

Ans

1. &S IR ATdT-fUdr off Fard Aa & ok dareF aaftral & T & rd d gl
11. wTa-foar fven faeror & g gsie a1 dand &1

X A Had I
X B. gl agll
X C.%ad |
o D. | TuT Il =t

[ Question ID : 1034357179

Q.7
Ans

ag =afh a1 99g & e fog Jar enfie frar man &2
X A ufagfe

X B. 39

X C. 0w

o D. R&fteR

[ Question ID : 1034357175

Q.8

Ans

Which of the following statement is correct, in the context of strong management and weak
leadership?

5 A. Well organized and successful team
< B. Inspired and motivate, but disorganized
X C. Ineffective, dull and sometimes negative work environment

¥ D. Administratively sound butiittleiinspired

Question ID : 1034357174

Q.9

Ans

Tl & forg ol & T &2

1. ot =l Y o1feh ariaRRen 21ifq, ofrie 2T & SfiR ITehl ehet T iR Ta-TTeHeRdT T faaR ahear
H|

1. T SATeH-AFAA H YR et & 3R 5t 73 i Hia @ & @ o=t aragr # off wgra
1R e HEa &1

111, TR T 9T R & HihT d GUR ghar & | e =g

& A laul
X B.laur
X Couaii
X DL @i

Question ID : 1034357160
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Q.10 39 &P I -ITH 13 it fA&701 3R T & To=mand) gfewton & ar # a1 &ear g?
Ans X A uElg ursgeaf Y woEr (TAig), 2020

75 B. Ut ursgTaf it Fuar (i), 2000
X C. TE Utsaaat dht TR (YY), 2009
o D. TET uTsg=af Y ERET (TAYH), 2005

[ Question ID : 1034357171

Q.11 Which of the following statement is correct?
I. Conventional education makes independent thinking extremely difficult.
1l. Education is not merely a matter of training the mind.

Ans X A. Neither I nor lI
«# B.Bothland I
5 c.onlyll
2 D.Onlyl

[ Question ID : 1034357167

Q.12 HE= & ddtenl A AagIRen a8t a2 3T =l 82
1. T &= g
II. B 6 Tfhaer serar @

Ans X A. had |
X B.&haet |
Xcagtlag
o D. | Tur Il =t

[ Question ID : 1034357164

Q.13 freror it R <t fafY Swenaeit & Sare = # GahRIeds ulRad=T &1 Gehd! 82
Ans X A. 3ITchTE alidl

o B. yHor flafy
X C. prdiuAs fafy
25 D. et fafey

Question ID : 1034357163

Q.14 ffafEa d @ w9 wRa & dRa a<ai @t qorEaxTge! e v #A & & e #=A aen

Ans X A Tehcd
/< B.3sH
o C.UYH
X D.3fe

[ Question ID : 1034357177
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Q.15 fF=fafEa & & w9 ar e amiSis g« & e J g gafaa &2

I. E¥pfa (Culture) - THEr 6 srdemsit ok et fi siren-sfa o1 ufaf e weedt 21

II. STerary (Climate) - ag Ea+ oht T2f 1 § Wit THeTa i 9r=m oo 3R sif g & garfar
gl

Ans X A dad |

o B.1TuTll S
Xocagtiad
X D. &as i

[ Question ID : 1034357172

Q.16 Which method is a purposeful activity accomplished with complete involvement in social
environment?

Ans  # A. Project method

< B. Excursion method

75 C. Worksheet method
25 D. Demographic method

Question ID : 1034357165

Q.17 9qe™ & e # Fafaf@a 7 @ #9 @ siter a8 @2
. &aTa 9Hg & ¥ d G - ¥hd fAaren, it snfy & smerst Y Fre @A
Il. Teh HH1YH & &9 J THER - ATa1-ar a<a9t o) aragie 7 ik #iere & 9ad &1

Ans o AUt EHl
&K B.&aw |
Xcaglag
X D. &as i

Question ID : 1034357170

Q.18 =@ d @ &= Aqa & ewrh wrf 82
. Teahft et o Fefor femt d i it agar 1
1. fverer Aar fAereRt & gRad goie g1 & faarR &) uagRr & uefifd & @1 et o1 Gehdr &1

Ans X A cadll
o B.IauTll g
X C.Faa|
XD g ag

Question ID : 1034357173

Q.19 Which of the following is not correct about Work Education?
Ans & A. Socially useful physical labour is not inherent in educational activities

/< B. Itis an essential and significant factor in learning processes.
& C. Itis based on the principle of learning by doing.

25 D. It establishes coordination in hand and brain.

[ Question ID : 1034357162
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Q.20 There are 8 stages of Yoga. Which of the following are among those stages?

Ans

I. Dharana

1I. Dhyana

1. Samadhi

IV. Asana
AL N and IV
K B.llland IV
« C. |1l Illand IV
< D.lland IV
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